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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-4 0
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BfiE) | BB (F) | EHE (EA/K) [ XK R

07:25 278 150.0 |Z=| {Rige07:25 Bah (RE{EELEE)
07:50 278 150.0 & =| 1Ri%e07:50 Bz (kAEREEE)
08:40 278 150.0 & =| 1Ri%@08:40 Bz (KRABEREEE)
09:45 278 150.0 & =| 1BRi%e09:45 Bxh (kAEREE)
10:30 278 150.0 | =| 1Ri%@10:30 Bz (kAEREE)
11:10 278 150.0 & =| 1Rige11:10 Bzh (GRAHEREE)
11:50 278 150.0 & =| 1Ri%e11:50 Bzh (RAHERESE)
12:30 278 150.0 | =| 1Ri%e12:30 Bz (kAEREEE)
13:10 278 150. 0 E| {Rig@13:10 Bzh (GREERSE)
13:45 278 150.0 = {Ri%e13:45 B (REAERSE)
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16:20 278 150.0 =l RRiB016:20 B (RFAKEESE)
17:20 278 150.0 =l RRiB017:20 Bz (REAKEE)
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23t 4170.0 (15)%) 2250. 323 KEC: 2080.0, PH: 5.8

FHEKRECE (2163.0 vs 4897.0) i d 5
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P3-4

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:05 278 150.0 |Z=| 1BRi%e07:05 Bzh (REERESE)
07:30 278 150.0 & =| 1Ri%@07:30 Bzh (KRAHERESE)
08:55 278 150.0 E  1BRi&e08:55 Bzl (RFAEREEE)
09:45 278 150.0 5| {Ri%@09:45 B3 (KRAERSE)
10:30 278 150.0 El 1BRi%010:30 Bz (GRAERE)
11:10 278 150. 0 El BRige11:10 Bz GRAEESE)
11:50 278 150.0 El BRige11:50 Bz (GRAERESE)
12:35 278 150. 0 E| {Rige12:35 Bzh (RE{ERSE)
13:15 278 150.0 E BRige13:15 Bz CGRAERSE)
13:50 278 150.0 | Ri%e13:50 B (REAHRESE)
15:00 278 150.0 (Z=| 1BRige15:00 Bzh (REERESE)
16:20 278 150.0 (Z=| 1BRi&e16:20 Bzh (REERSE)
24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

FEREIEC (2410.0) HigZFEEC (2000.0) REK KX, HHRE

#H[EKECE (2410.0 vs 5193.0) 15
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ET (ml/hr/plant)

P3-4_0, Day=52 (2025-05-20)
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P3-4

BfiE) | BB (F) | EdiE (ER/HK) [ XK R

07:10 278 150.0 FA| 1Bi&@07:10 B3 (KRAFEREE)
07:35 278 150.0 FA| 1BRi&@07:35 B3 (KRAEREE)
08:50 278 150.0 [ =| {Ri%e08:50 B (FRAEESE)
09:45 278 150.0 (& =| {Ri%e09:45 Bz (REAERESE)
10:30 278 150.0 & =| 1Ri%@10:30 Bzh (kAEREE)
11:10 278 150. 0 =l Rig011:10 B3 (GRAEESE)
11:50 278 150.0 =l {Rige11:50 B3 (RAERSE)
12:30 278 150.0 =l RRiB012:30 B (REAKEE)
13:10 278 150.0 5| 1Ri%e13:10 B (RAEREE)
13:45 278 150. 0 F|  {Rige13:45 B3h (RE{EREE)
14:40 278 150.0 E|  Rige14:40 Bzh (GRAEES)
15:25 278 150.0 E| {Rige15:25 Bzh (RE{ERSE)
16:05 278 150.0 & 1Ri%e16:05 B (RFAERER)
17:00 278 150.0 =l Ri%e17:00 B3 (RFAERSE)
2it]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0

HERRHEME S TEAERTS (179.0 : 145.0), AIgEMF—RE XAH45
BRI\ SEPRGERL145. 0 ml.

BEREBIEC (2580.0) SiZTEEC (2000.0) HEILKA, BFHE

[E;&%EC 5380.0 K&, EiFHRECAEZIREER

#[EKECE (2580. 0 vs 5380.0) 5
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ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=51 (2025-05-19)
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